


/' A lent Rs. 600 to B for 2 years and Rs. 150 to C for 4 years and received

altogether from both Rs. 90 as simple interest. The rate of interest is —

| T 2HTA R TIU600FUT S | 3R 4ATA kR AT 150 TUTE F TR IAT
¥ 90 TUT TTYNUT SATH o ET H fHAT | AV SATH HT W E IR AT & TAME T

AT & - 1) 3%
2) 4%

3) 5%

4) 6%




per annum on the sum of Rs. 1000 after four years?

3{AT FT N AR GTA d1e?

@/ What will be the difference between simple and compound interest at 10%

1000 T Y T AT 10% T T hY T E ATAROT R A (o, SATH o ATl

1) Rs. 40.40

T —

2) Rs. 64.10

3) Rs. 31
4) Rs. 32.10



Find the average of all odd numbers up to 100?
100 ek <hT THT TorasT TEamati T 3NHd 31T ShileTu?




7 1f x + 1/x = 3 then the value of x* + 1/x* will be:

Afg x+1/x=3Fa x* + 1/ x* T A gA:




& Ifx + 1/4x = 3/2, then the value of 8x> + 1/8x? is:

. I x+1/4x=3/2, A8 + 1/ 8x* HTHI 2:




If x*x"x¢ = 1 then the value of a3 +b>+clis:




is equal to/ HATeT ATT Y ?

1) 2 sec’0
2) 2 cosec’0
3) 1%-sin0
4) 2 cos’0




®7 A iron rod is in the form of a square enclosing an area of 22 cm®. If the

same iron rod is bent into a circle, then find the area of that circle.

Ueh 18 hi BT 22 HI? % AT I B STl 1 o &T H gt g afe 36 o 6y
TS HI Ueh g H W AT AT 2, AT TAd hT AAF FTA hil

1) 24 cm?
2) 26 cm?
3) 28 cm’
4) 30 cm’




1+ 1 . 1 1
5.9 9,13 13. 17 """61.65

1) 4/45
2) 3/65
3) 2/35
4) 3/35




Find equivalent discount of three successive discount of 165 %,

14— %,20%?
Wagrma% ?

2
(1) 14= %,

6
(2) 42= %,

3) 25%
4) 12.5%




SSC GD 2023 (%l ST HGIHA)

Two liquids are mixed in the ratio of 3: 2 and the mixture is sold at Rs. 11 per
litre at a 10% profit. If the 1st liquid cost Rs. 2 more per litre than the
second, what is the cost per litre of the second liquid?

&Y O Yerdt &Y 3:2 F Heurd H fRemar Jrar § 3R f&sor Fr 20
FU # a9 Srar #1 11 9fT e 10% amer 9wl Iy gger a¥el i
FrAd &1 9fa e qa¥y @ 2 3w 8, af qEY aer &1 ufa ofiex
Hed &7 872

e A.Rs8.80 B.Rs10.80 C.Rs 12.80 D.Rs14.80




@ what is the value of 52 sec 45!+ (1 ,53) tan 30 ! =?
. T F{TA &Y ?

(a) (1+ V3)12
®) (+ 3V2)/V/3

@ (3+2V2)/3/3




A and B together do a job in 15 days and A alone could do the same job in 28=
days. How many days would B take to do half the job if he worked alone?

A 3 B Ueh AT 15 AT W ek &TH &d & 3T A 3Tehet 20 feAT W g0 & &t
AT 8. SR B Tehe! hIH AT & a1 B T SATHT W e ¥ fehad fa e

(1) 60

(3) 45
4) 40




What will be the selling price (in Rs) if the cost price is Rs 7500?
T THTER 60% T U ATt & o iR 10% Te T & 8. Al
ST 0o 7500 T 3 v fershir 7ot (G #)  grm?

(1) 1800
(2) 12800
(3) 13800

ORLLE




P
T —

A batsman makes a score of 81 runs in the 16™ match and thus

increases his average runs per match by 3. what is the average after
the 16™ match?

Teh ATEASTST 169 B2 | 81 T T ThIX SATAT 2 3 39 ThR ATd #er ftaa
3 A A ATAT 2l 163 AT &% T aa T 82

(1) 35
2) 34
(3) 33




¥ A vendor buys 12 bananas for Rs 60 and sells 5 bananas for Rs.32.

)

S——

What will be his gain (in%)?
Teh forehaT 60 T | 12 het TRIGAT @ 37 32 T | 5 et aerar
IHEHT ATH T BT (H%)?

[ o |

Q) 32
3) 24
4) 22




~_ A compound interest earned in two years at 15% per annum is Rs. ™<=

.rﬁn

20640. What is the sum invested(in Rs)
AN H 15% TTaTs 6 S AR Tshdlyg ST 20640 FAC 2 Fawr aivr

T (o i)

L 64000 ]

(2) 60000
(3) 56000
(4) 52000




Cosec 0 =?




what is the area (in sq cm) of the rectangle if its diagonal is 51

and one of its sides is 24 cm?

I T EABS (I GHT W) AT B Al FART Tahol 51 G g R 36 7l
T U 24 YT 87

(1) 540
) 810

4) 360




